Ne ApTUKYN HanmeHoBaHue Kon
1 Bont M8x30 1
2 Waiba @8 1
3 Waiba @8 1
4 [908-788-004 [CuenneHue B cbope 1
5 |908-788-005 |PemeHb 2
6 bont M8x16 4
7 Waiba @8 4
8 Waiba @8 4
9 |908-788-009 |KoXKyx pemHsA 1
10 Maiika M10 4
11 LWait6a P10 4
12 Waitba @10 4
13 [Buratens GX390 1
14 Bont M12x55 2
15 LWai6a @12 2
16 |908-788-016 [Btynka 2
17 |908-788-017 [BTynka HeliioHOBaA 2
18 [908-788-018 |Bubporacutenb 2
19 CTolKa 1
20 Pyuka 1
21 Tpoc ynpasneHus B cbope 1
21-1]908-788-211 ([Pbiuar ynpaBneHus 1
21-21908-788-212 [Tpoc ynpasneHua 1
22 Bont M8x30 4
23 Kopnyc 1
36 [908-788-036 |Pbiuar rasa 1
37 |908-788-037 [Tpoc rasa 1
Mogenb
Bubponnura VP260-HK
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 1




Ne ApTUKYn HanmeHoBaHue Kon
24 |908-788-024 |BubpaTtop B cbope 1
25 Pama 1
26 Fanka M12 4
27 LWan6a @12 4
28 [908-788-028 |Bubporacutenb 4
29 Lan6a @16 6
30 LWan6a @16 6
31 bont M16x45 6
32 MnactnHa 2
33 OcHoBaHue 1
Mogenb
Bubponnura VP260-HK
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 2




Ne ApTUKYn HanmeHoBaHue Kon
1 KoXyx pemHsa 1
2 BuHT M8x20 1
3 Lainba @8 1
4 LWanba @8 1
5 |908-788-042 |Lkus 1
6 KpblwKa 1
7 MpoKknaaKa 3
8 CanbHukK 28x50x10 1
9 KpblwKa Kopnyc Bubpatopa 1
10 WrndT 2
11 Mpoknaaka 1
12 |908-788-050 (MogwmnnHmnk NJ206 4
13 KonbLo ctonopHoe @342 5
14 bont M8x20 9
15 LWanba @8 9
16 Kpblwka 1
17 bont M10x 65 1
18 Konbuo ctonopHoe 1
19 Maiika M10 1
20 Konbuo 1
21 CoeguHutens M20 1
22 DKCLEHTPUK 1
23 LnoHKka 8x20 1
24 Ban 1
25 LLnoHKa 12x50 1
26 LWnoHKa 12x20 1
27 LecTepHa 1
28 DKCUEHTPUK 1
29 Ban 1
30 KpblwKa 2
31 LLlectepHa 1
Mogenb
Bubponnura VP260-HK
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 3




Ne ApTUKYn HanmeHoBaHue Kon
32 Kopnyc 1
33 MpoKknaaKa 1
34 KpblwKa 1
35 LWalba 3
36 bont M6x20 3
38 Wrndt 1
39 Ban 1
40 BTtynka 1
41 LWainba 15x32x2.5 1
42 Lanba @5 1
43 Bbont M5x16 1
44 Ban 1
45 CoeguHutennb 1
46 CanbHuK 20x30x6 1
47 Polyar 1
48 Lan6a @10 2
49 bont M10x25 2
50 bont M8x25 4
51 MogwwnnHmk 16008 2
52 Mpobka M14x1.5 2
53 KonbLo ynnoTHUTenbHoe 1
54 MNoawwnnHuk (54, 55, 56) 2
57 KonbLo ctonopHoe @40 2
58 Konbuo ctonopHoe @30 1
59 MpoknaakKa 1
60 Waitba @10 9
61 bont M10x3 9
Mogenb
Bubponnura VP260-HK
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 4




Ne ApTUKYN HanmeHoBaHue Kon
1 [90-0123 lfonoBsKa unanHapa B cbope 1
2 |01-188-002 |BoAnT KNanaHHOM KPbILLKK 1
3 |01-188-003 ([KpblwkKa KAanaHoB 1
4 * MpoKnaaKa KpbIWKKU KNanaHoBs 1
5 101-188-005 (boAT ronoBKku uMAMHAPA 4
6 |[90-1083 TpybKa oTBOAa rasos 1
7 [01-188-007 (WnunabKa raywntena 2
8 |LR5YC Cseya 3axkuranuma LR5YC 1
9 * MpoKnaaKa ronoBKku 1
10 [01-188-010 |[BTynka P12x20 2
11 |01-188-011 (lUnwnnbKka KapblopaTtopa 2
* 190-0237 Habop npoknagok
Mogenb
Bubponnura VP260-HK
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 5




Ne ApTUKYN HanmeHoBaHue Kon
1 (02-188-001 (UwnnanHpp 1
2 [02-188-002 [OdaTymK ypoBHA macna 1
3 |90-0631 CanbHUK 1
4 [90-0627 Pene patunka macna 1
6 [90-0750 MogwnnHmk 6202 1
9 (02-188-009 |Ban perynaTtopa obopoToB 1
11 |02-188-011 |Wai1ba 2
12 |90-0461 boAnT cAaMBHOro oTBEpPCTMA 2
Mogenb
Bubponauta
P VP260-HK
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 6




Ne ApTUKYN HanmeHoBaHue Kon
1 |03-188-001 [KpblwKa KapTepa 1
2 |03-188-002 |MpobKa (wyn) 2
3 |03-188-003 |[BTynka @8x12 2
4 |03-188-004 (LLecTepHs perynatopa ob6opoToB 1
5 190-0750 MogwnnHmk 6202 1
6 [90-0636 MoawnnHmMK Konensana 6207 1
7 * Mpoknaaka KapTepa 1
8 [03-188-008 |bonT M8x325 7
9 190-0631 CanbHWK KoneHsana 1
* [90-0237 Habop npoknaaok
|
|
Mogenb
Bubponnura VP260-HK
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 7




Ne ApTUKYN HanmeHoBaHue Kon
1 Konensan 1
3 |04-188-003 (MpoTtmBoBEC 1
4 |90-0176 Konbuo nopuiHesoe @88 1
5 [05-188-005 [KonbLo ctonopHoe 2
6 |05-188-004 [Manew nopLHA 1
7 |90-0147 MopuieHb P88 1
8 190-0182 WatyH 1
Mogenb
Bubponauta
P VP260-HK
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 8




Ne ApTUKYN HanmeHoBaHue Kon

1 * Kopombicno Habop 2

2 * KpoHLWTeNH Kopombicen 1

3 * LtaHra Tonkatens 2

4 * Tapenka Tonkarena 2

5 * Potatop 1

6 * CTtonop NpyXunHbl BbIMYCKHOrO KnanaHa 1

7 * Cronop npyXunHbl BNIYCKHOrO KNanaHa 1

8 * Mpy*KMHa KanaHa 2

9 * Tapenka NpyXuHbl 1
10 [90-0248 Konnayok macnocbemHbli 1
11 [90-0674 KnanaHbl Habop 2
12 (06-188-012 [PacnpeaBan 1

* 190-0860 PeMKOMMAEKT roN0BKM

Mogenb
Bubponnura VP260-HK
Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 9




Ne ApTUKYN HanmeHoBaHue Kon
2 |90-0495 CrapTep B cbope 1
4 |90-0851 KoXyx maxoBuKa 1
8 190-0115 BbikntoyaTenb 3axKuraHuaA 1
9 190-0252 PyuKa ctapTepa 1
11 |909-020 LLUHyp cTapTepa 4,5 mm 1
12 |90-0863 Mpy*KnHa ctaptepa 1
Mogenb
Bubponauta
P VP260-HK
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 10




Ne ApTUKYn HanmeHoBaHue Kon

1 * Mpoknaaka TensonsonaTopa 1

2 |08-188-002 ([Tennousonatop 1

3 * MpoknaaKa kKapbopaTopa 1

4 (90-0132 Kap6topaTop 1

5 * MpoKknaaKa Kopnyca Bo3aywHoro ¢puabTpa 1

6 *ok MpyuHa pblyara 1

7 ok MpyKK1Ha TArKn 1

8 *k TAra perynatopa 1

9 190-1084 Pblyar rasa 1
10 |12-188-010 [Pblvar perynaropa 1

* [90-0237 Habop npoknaaok

** 190-0858 Habop npyxuH

Mogenb
Bubponnura VP260-HK
Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 11




Ne ApTUKYN HanmeHoBaHue Kon
1 |09-188-001 [MaxoBuK 1
3 [09-188-003 [Kpblab4yaTKa maxoBUKa 1
4 [09-188-004 |XpanoBuK cTapTepa 1
5 ]09-188-005 |[lalika MmaxoBWKa 1
6 [04-188-002 (lUnoHKa maxoBWKa 1
7 |(90-0258 MarHeTto 1
10 [90-0117 Konnayok cBeyHol 1
Mogenb
Bubponauta
P VP260-HK
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 12




Ne ApTUKYn HanmeHoBaHue Kon

1 |15-188-001M [Mpobka 6eH3obaKa 1

2 |14-168-002 |®unbTp TONAUBHbIN 1

4 190-0616 baK TonAMBHbIN 1

5 [15-188-005 (WTyuep 1

6 [15-188-006 (3axum 2

7 |90-0266 LWnaHr TonaunsHbIn (6, 7) 1

8 190-0621 rnywurtens 1

9 * MpoknaaKa natpybka raywmrtena 1
10 * Mpoknaaka rnywurtensa 1
11 |14-188-004 [raiika 2
12 (14-188-002 |Natpy6ok 1

* 190-0237 Habop npoknagok

Mogenb
Bubponnura VP260-HK
Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 13




Ne ApTUKYN HanmeHoBaHue Kon
90-0225 Kopnyc Bo3aywHoro ¢punbTpa 1
90-0467 PunbTp BO3AYLLHbIN 1

FN PN

1 Mogenb
Bubponnura
P VP260-HK
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 14




